@ % F & A » (%‘;%%%ku$i) (BASL: FF-%) (B FH-%)
HEFE FTEREEE
= 5 (Eeparas) IRl THI6FE THIEFE
REZA RERAZEB B/A RERAZEC C/B RERAZED D/C
(D#UNZE(A) 294,524 316,251 107.4 331,318 104.8 329,300 99.4
7 EFINEB) 52,010 57,461 1105 61,861 107.7 62,479 101.0
(PIFEZURA 51,893 57,400 110.6 61,800 107.7 62,418 101.0
1 (£)ZEETHUNEE(C) 0 0 0 0
(") ZFDih 117 61 52.1 61 100.0 61 100.0
gy A EXRSMRE 242,514 258,790 106.7 269,457 104.1 266,821 99.0
(P EEHEA S 240,791 258,789 107.5 269,456 104.1 266,820 99.0
n (NHZTDHh 1,723 1 0.1 1 100.0 1 100.0
(2)#&R(D) 150,565 165,044 109.6 166,526 100.9 161,067 96.7
B 7 mesm 76,810 114,413 149.0 119,068 104.1 116,950 98.2
Iy (PBEHKEE 9,450 13,145 139.1 12,944 98.5 13,050 100.8
(NZFDh 67,360 101,268 150.3 106,124 104.8 103,900 97.9
¥ 14 BEXENER 73,755 50,631 68.7 47,458 93.7 44,117 93.0
(PIXZILFI R 65,853 41,245 62.6 37,874 91.8 34,433 90.9
SH—RFEEAFE 0 0 0 0
(NZDth 7,902 9,386 118.8 9,584 102.1 9,684 101.0
(3URFZ ZE5I(A)-(D) (E) 143,959 151,207 105.0 164,792 109.0 168,233 102.1
(DEXRBUA(F) 15,638 3,315 21.2 1,200 36.2 1,200 100.0
7 HhAE 0 0 0 0
1 EEHES 0 0 0 0
2 W MEFHEAE 0 0 0 0
I hEEHHEEE 11,165 0 0.0 0  #DIV/0! 0
g 4 EHR)##EEhE 0 0 0 0
h IEHEHEE 4,473 3,315 74.1 1,200 36.2 1,200 100.0
X ¥ BEEEEFTINKE 0 0 0 0
g Fhih 0 0 0 0
B (2)EARRIZHI(G) 154,531 164,621 106.5 167,992 102.1 171,433 102.1
7 BENEE 15,638 1 0.0 1 100.0 1 0.0
R StmERSE 0 0 0 0
1 HAEEEEH) 138,893 164,620 1185 167,991 102.1 171,432 102.1
X o e ERBASRES 0 0 0 0
I i~ ERE 0 0 0 0
T Foith 0 0 0 0
(RURFZ Z=5I(F)~(G) () A 138,893 A 161,306 116.1 A 166,792 103.4 A 170,233 102.1
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HEFE

TEREAE

X N (ER2TERE) (RRISEE) FM6FE FH6EE
REZA RERIALB B/A RERAZEC C/B RERAZED D/C

3 IEZHEESIEHD ) 5,066 A 10,099 A 1994 A 2,000 19.8 A 2,000 100.0
4 FEILEK) 0 0 0 0
5 BIEEMDEBEEL) 8,081 15,663 193.8 5,564 355 3,564 64.1
6 BIEERKRLETASM 0 0 0 0
7 FRANZ(I)-(K)+HL)-(M) (N) 13,147 5,564 42.3 3,564 64.1 1,564 0.0
8 BEFEARYMT NEZELROO) 0 0 0 0
9 EHINZ(N)—-(O)E=F(P) 13,147 5,564 423 3,564 64.1 1,564 0.0

" [F=F1Q) 0 0 0 0
10 FRFLHLE(Q/(B-C) % 100) 0 0 0 0
11 UREEAYURSZ L Z-(A/(D+H) X 100) 101.8 95.9 94.2 99.0 103.2 99.0 100.0




